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20000 A (5FFK. 5FFEMER. 8FEBFR)
30,000 “H (FEEK)
40,000 /A (KRZ.E\HKF)

0 /A (X#k)

10000 A (BFFR. aFHMAER. SFEEFER)

X FEIEMERIEE, FEERDIODIEMRE (1~ 4FH]) ZECEREELET .
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SESGERESLL)| 20000 § x 12 A x = 720,000 M
SESRERESHY) 30000 H x 128 x = 1,080,000 M
EEEMER 20000 @ x 12 8 x = 1,200,000 M
EEEROES) 30000 H x 12 8 x = 360,000 M
BEEERQEH) (30000 H x 128 x = 720,000 /M
BB (3FEH) 30000 H x 12 8 x = 1,080,000 M
BEFRAEH) (3000 H x 128 x = 1,440,000 M
SEEA KA (24F&]) 40000 H x 12 B X = 960,000
K4 (AFEH]) 40000 § x 12 B X = 1,920,000 M
OiR:EE%E ()
(FFEHLLDIFE)IARUVIAXH
EEER(@ERESLL) 720,000 = 10 £ 2@ = 36000 34
EEFRBEEEHY)| 1,080,000 ~ 10 & 2@ = 54000 %4
EEEMER 1,200000 =~ 10 £ 2@ = 60000H ¥4
BB (1) 360,000 = 10 & 2@ = 18000 0 %%
BB (25 Hl) 720000 = 10 % 2@ = 36000 %&£
BB (3EHI) 1,080000 4 = 10 % 2@ = 54000 %4£&
BB (45 Hl) 1,440000 @ = 10 % 2@ = 72000 %4&F
HEAKZHE 25FH]) 960000 =~ 10 4 2@ = 48000 %4
KEFH (AFEH]) 1,920000 @ = 10 4 2@ = 96000 ¥4
AiILLDIBE)
BEERGERERLL) 720000 = 10 & 12[@ = 6000H” B
SESREZESHY) 1080000 =~ 10 & 12@ = 90008 B
BEEMER 1,200000 = 10 % 12@ = 10000 B
BB (15 H) 360,000 =~ 10 % 12@ = 30000 B
BB (25 Hl) 720000 =~ 10 & 12@ = 60000 B
BB (35HI) 1,080000 =~ 10 % 12@ = 90000 B
BB (45 H) 1,440000 =~ 10 % 12@ = 120000 B
HEAKZHE (25 960,000 @ =~ 10 4 12E = 8000H B
KEFH (AFEH]) 1,920000 @ = 10 4 12@ = 16000 B




